AWS Cloud Practitioner Certification Example Questions

1. Under the shared responsibility model, which of the following is the customer responsible
for?

A. Ensuring that disk drives are wiped after use.

B. Ensuring that firmware is updated on hardware devices.

C. Ensuring that data is encrypted at rest.

D. Ensuring that network cables are category six or higher.
2. Which allows companies to track and categorize spending on a detailed level?

A. Cost allocation tags

B. Consolidated billing

C. AWS Budgets

D. AWS Marketplace
3.  Stores objects, provides real-time access to those objects, and offers versioning and lifecycle
capabilities:

A. Amazon Glacier

B. AWS Storage Gateway

C. Amazon S3

D. Amazon EBS
4.  What AWS team assists customers with accelerating cloud adoption through paid

engagements in any of several specialty practice areas?

5.

A. AWS Enterprise Support

B. AWS Solutions Architects
C. AWS Professional Services
D. AWS Account Managers

A customer would like to design and build a new workload on AWS Cloud but does not have

the AWS-related software technical expertise in-house. Which of the following AWS programs can

a customer take advantage of to achieve that outcome?

A. AWS Partner Network Technology Partners
B. AWS Marketplace

C. AWS Partner Network Consulting Partners
D. AWS Service Catalogue



6.  Which service allows a company with multiple AWS accounts to combine its usage to obtain

volume discounts?
A. AWS Server Migration Service
B. AWS Organizations
C. AWS Budgets
D. AWS Trusted Advisor
E. Amazon Quicksight

7.  Which of the following services could be used to deploy an application to servers running on-

premises? (Choose two options)
A. AWS Elastic Beanstalk
B. AWS OpsWorks
C. AWS CodeDeploy
D. AWS Batch
E. AWS X-Ray

8.  Which Amazon EC2 pricing model adjusts based on supply and demand of EC2 instances?

A. On-Demand Instances
B. Reserved Instances
C. Spot Instances

D. Convertible Reserved Instances

9.  Which design principles for cloud architecture are recommended when re-architecting a large

monolithic application? (Choose two options)
A. Use manual monitoring.
B. Use fixed servers.
C. Implement loose coupling.
D. Rely on individual components.

E. Design for scalability.

10. Which is the MINIMUM AWS Support plan that allows for one-hour target response time for

support cases?
A. Enterprise
B. Business
C. Developer

D. Basic



Answers
1-C
2-A
3-C
4- A
5-C
6- B

7-B-C
8-A
9-C-E
10-B



